Revision test

1) In a negative sentence ‘should + perfect infinitive’ serves to show that
a) a desirable action was not carried out;
b) an undesirable action was carried out, something wrong was done.

2) What modal verb is more common in the meaning of ‘supposition implying strong probability’?
a) must		b) should		c) have to

3) When ‘should’ is used in the meaning of emotional colouring? What other modal verbs are used in the same meaning?

4) Fill in the gaps in the following table:

	Must
	Have to
	Be to
	Should

	Obligation from the speaker’s point of view
	
	
	



5) Compare the following expressions: 
a) ‘needn’t do something’ and ‘don’t have to do something’;
b) ‘didn’t need to do something’ and ‘needn’t have done something’.

6) ‘Need’ can be a modal and a notional verb. What’s the difference?

7) What are the negative and interrogative forms of the modal verb ‘have to’? 
